g werlz 93 @ AsAtet 22
12 €99 © A5t AUt old

kmE o 27 29 152,



& 5 254 o 02 WHshs Adtel §l=
SHAL.

@ 51+6

B 425+5

VAl

BE AS o=

® 46.4+32

717



7

I
}.
7]

al(f

ulru Oko

5]

o]

5t

7

il
= o]

Ct
=

= £ 29 27} 82.13 kg |

s
L=Ry)
T

o #AE AN FA7
A 2 kgAA FoHA 2

_1

kg

fujr



@, © 2719l 71 & Holrt T AR 402 AAHY, @
kel 7|4 2] 27]7] 91 -2 58,5 cnol 1, © el 7|4 2ol
B2 g e @ el7loA Bl 4717 ghe e ikhnt

0.25 cm7H Ak H T E, © A 7|ollA 2o 71 F20]1 © A4 2

oH XA 1

ol9] 0.75¢] s wl, © =re7] A9 Aole 2 cmUA] F5HA2

® 69cm @ 87cm @ 116cm

@ 145cm B 145.5cm



17+ 6 & Lro] "ol A7) gt o] A4be 44 S4) Ahalo] A
Uiro] "ol 2|7 sl ®l, Lol 4eof lnte Hefof sl 7

e 55 A2

Yk
=%



ol 18 +24 O] Fi g E AL 1=2AQ.
D 9+12

@ 6=8
@ 30 = 40

3 10+ 16
B 48 = 64



A

o1 2
SEE




o2 AtthE] & ] Wolrt 473 cm? & o, Alte]Ee] W o] Zdol=
ofF @ cm Q1A HhEEcto] A4 4 A2 7hA] YAl L. (4 -
0.666--- — °F 0.67)

- .-6.4cm. o




Pt gHlol= 0.75kmE Gl = AlRE 5 A A5 A=l
g9 o= S0Pt YKt 22 AR Sot o A5H Oﬂ/ﬂ =
10mFARL, F 94 &2 dofl= §rlol7F 9mAA S5H3l

T A 1I5mFASUY. 280 890 0.75kmE 2 J;Oﬂ D*Eﬂ
MEU7Y (BhERlote] A AR 22| 7kA] A5HA 2.)

O 1071 % @ 1072 % ® 1073 %=

@® 1074 % B 107.5 %



10.

A7F 1891 F 7t sy 2 ¢
RA A=) 74A] St 1.20]41 o] o
T 2.

Yk
=%

|
X,
Mo



